Soln:

This problem reinforces your understanding of the relation between two’s-
complement and unsigned representations, as well as the effects of the C promo-
tion rules. Recall that TMins, is —2.147.483,648. and that when cast to unsigned it

becomes 2,147.483,648. In addition, if either operand is unsigned, then the other
operand will be cast to unsigned before comparing.

Expression Type Evaluation
-2147483647-1 == 2147483648U Unsigned 1
-2147483647-1 < 2147483647 Signed 1
-2147483647-1U < 2147483647 Unsigned 0
-2147483647-1 < -2147483647 Signed 1
-2147483647-1U < -2147483647 Unsigned 1

Soln:

This exercise provides a concrete demonstration of how sign extension preserves
the numeric value of a two’s-complement representation.

A [1100] -2 422 844 = -4
B.  [L1100] 24232 “16+8+4 = —4
C. [U1100]  =29424 423422 = 324 1648+4 = —4



